LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)
WORKSHEET - 4

683 229 413 911

X6 x3 x 7 x 4

18 27 21 4

+ 480 + 60 + 70 + 40
+ 3600 + 600 + 2800 + 3600
= 4098 = 687 = 2891 = 3644
900 522 279 854

x 3 x 7 x 7 X 2

0 14 63 8

+ 0 + 140 + 490 + 100
+ 2700 + 3500 + 1400 + 1600
= 2700 = 3654 = 1953 = 1708
816 429 785 440

x 2 x 3 X 6 x 8

12 27 30 0

+ 20 + 60 + 480 + 320
+ 1600 + 1200 + 4200 + 3200
= 1632 = 1287 = 4710 = 3520
305 182 633 496

x9 x 4 x 7 x9

45 8 21 54

+ 0 + 320 + 210 + 810
+ 2700 + 400 + 4200 + 3600
= 2745 = 728 = 4431 = 4464
399 241 824 755

x 4 x5 x3 x 8

36 5 12 40

+ 360 + 200 + 60 + 400
+ 1200 + 1000 + 2400 + 5600
= 1596 = 1205 = 2472 = 6040
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